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Byteasar would like to go to a holiday to the Bitonian Sea. For each of n days of his holiday he knows the
recreation coefficient, which specifies how good Byteasar will be enjoying himself on this day. Each coefficient
is an integer; it can be negative – that means that during such day Byteasar would like to stay home.

Fortunately, Byteasar do not have to spend all his holiday at the sea. He can buy up to k plane tickets
from his favorite low-cost airline (each ticket is for a two-way trip to the sea and back).

Help Byteasar to plan his holiday in such a way that the sum of recreation coefficients of days which he
will stay at the sea, will be as big as possible, provided that he could fly at most k times. For simplicity we
assume that planes travel by night.

Input

In the first line of the input there are two integers n and k (1 ≤ k ≤ n ≤ 1 000 000). In the second line there
are n integers (with absolute values not greater than 109), which specify recreation coefficient for consecutive
days.

Output

In the only line of the output you should write one integer – the maximum sum of recreation coefficients in an
optimal holiday plan.

Example

For the input data:

5 2

7 -3 4 -9 5

the correct result is:

13

Grading

Subtask Constraints Points

1 n · k ≤ 200 000 000 50
2 no additional constraints 50

1


